
Pascal’s Triangle 

Expand Arrange terms in descending order of x. 
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Patterns in Pascal’s Triangle 

There are patterns in Pascal’s Triangle and in the expansion of (𝑎 + 𝑏)𝑛. 

- Each term in the expansion of (𝑎 + 𝑏)𝑛 is the product of a number from Pascal’s 

Triangle, a power of a, and a power of b. 

- The coefficients on the terms correspond to the numbers in the nth- row in Pascal’s 

Triangle. 

- In the expansion, the exponents of a start at n and decrease to 0. The exponents of b 

start at 0 and increase to n. 

- The exponents on a and b always add to n. 

 

Using Pascal’s Triangle 

1. Expand (𝑥 − 2)5 using Pascal’s triangle. 

 

 

 

 

 

 

 

 

 

 

 

 
2. Expand (5𝑥 + 2𝑦)3 using Pascal’s triangle. 


